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1 BOD
mg/e
6 7 8 9 10 11 12 2
19 0.9 31 11 17 1.6 36 24 13 26 19 2.1
57 1.4 9.0 47 6.4 15 5.4 42 5.1 40 32 5.4
2.7 54 19 2.6 12 14 18 21 5.0 21 2.2 18
27 2.0 5.8 11 9.9 2.0 48 56 36 53 53 5.9
2 Chl-a
g/l
6 7 8 9 10 11 12 2
43.8 6.1 40.3 13.7 38 151 32 15.3 13 15.4 131 13.3
120 81 114 80.9 159 87 167 41.3 5.2 114 30.9 979
41.1 21 16.4 25 16.6 74 53 40 16 8.2 47 15.3
415 143 506 520 177 165 107 133 94 798 124 783
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M g/e
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91.3 1 g/e
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7 11 2

Chl-a

7.3



7 11 2
pH 7.8 85
DO (mg/e ) 8.0 10.3
BOD(mg/® ) 2.6 5.3
SS(mg/e ) 8.0 18.0
Chl-a g/ 7.3 91.3

pH DO BOD SS Chl-a
pH
DO 0.796
BOD 0.751 0.660
SS 0.339 0.303 0.470
Chl-a 0.809 0.448 0.698 0.648

6 10
Chl-a
4 Chl-a
BOD Chl-a
BOD
(@)T-N T-P
T-N T-P

T-N T-P

pH
pH BOD

450

2
NP T-N/T-P

05 11

T-P

N/P



Richards T-N T-P

N/P
5
106HCO3-+106H20+16NH3+H3PO4+ 10 19 10 T-N T-P
- (CH20)106(NH3)16H3P04+10602+1060H- 5 10
Richards
N:P 71
N/P 7 T-N T-P T-N 3.6mgle T-P
1.55mg/e
Richards
7 500m%  T-N  1.44mg/e
171
3 T-N  2.74mg/e T-P  4.28mg/e
4 m —e-- ==
g
| g----a--H ——
2,
T
1
0
5 T-N T-P T-N/T-P
8 T-N mg/e
T-N T-P T-N/T-P
o —— 3.60 1.55 2.31
—-— 1.27 0.180 7.05
10 o 1.22 0.062 275
; ® 1.21 0.044 19.6
g 6 » 2.37 2.65 0.89
E . 274 4.28 0.64
1.40 2.57 0.54
2 1.08 1.69 0.63
1.10 1.62 0.67
0 1.14 1.46 0.78

9 T-P



R 2N (mg/L)
—0— (mg/L)
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2
(1)BOD Chl-a
BOD Chl-a
11 12
5
7
0
BOD 5 20.8mg/e
18.1mg/e
1.8mg/e 10
7 5
0 5 7
Chl-a 5 152 pa g/e
123 1 g/e
7 258 1 g/e
216 1 g/e 5
7
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0 5 7
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14 T-P
6 T-N T-P DN/T-N DP/T-P
0
955 46.2 438
99.5 331 37.1
994 315 35.3
P 28.8 174 15.7
90.9 404 48.7
90.8 485 59.3
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